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DipIETE – ET jOLD SCHEMEk
 
CRGH: DE17                                SXEMHFW: ELEMENTS OF SATELLITE COMMUNICATION

TLPH: 3 HRXUV                                                                                                     MD[. MDUNV: 100

 
NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH SURYLGHG IRU LW LQ WKH

DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16 PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1       CKRRVH WKH FRUUHFW RU WKH EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                 (2� 10)
          

a.       ITU has divided the world into
 

                   (A)  3 regions                                      (B)  4 regions
(C)    2 regions                                     (D)  6 regions                                                       
 

b.      The system which collects data from sensors of space craft and sends to the controlling earth station is called
_________

 

(A)    Tracking system                           (B)  Telemetry system
(C)  Power system                               (D)  AOCS system

            

             c.   The energy per bit for QPSK is  
                        

(A)                                      (B)  

(C)                                      (D)  
 

             d.   The farthiest distance that a satellite orbit reaches from the earth surface is called 
 

                   (A)  Apogee                                        (B)  Perigee
                   (C)  Prograde                                      (D)  Retrograde

       
             e.   The height of the geostationary orbit from the earth¶s surface is
                                      

(A)     900 Kms                                     (B)  1800 Kms

(C)  42500 Kms                                  (D)  35860 Kms
 

             f.    Long distance communication system via satellite in Ku band uses frequencies in the range of 
 

(A)     3-6 GHz                                      (B)  11-14 GHz

(C)  100-200 GHz                              (D)  3-6 MHz

 

             g.   The multiple satellite access system which suffers from the presence of intermodulation products in
 

(A)     TDMA                                        (B)  FDMA

(C)  CDMA                                        (D)  DAMA
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             K.   TKH YLGHR FDUULHU IUHTXHQF\ (LQ MH]) XVXDOO\ HPSOR\HG IRU WKH T-9 FDEOH TV FKDQQHO LV DURXQG 
 

 

 

(A)    7                                                  (B) 25

(C)  19                                                (D) 13

 
             L.    TKH VDWHOOLWH RUELW LV WHUPHG DV D UHWURJUDGH RUELW ZKHQ LWV DQJOH RI LQFOLQDWLRQ 
 

(A)  EHFRPHV                                (B) H[FHHGV 

(C) ]HUR                                              (D) EHFRPHV 

 

             M.    MXOWLSRLQW FRPPXQLFDWLRQ FDSDELOLWLHV DUH PRUH LQ 
 

(A) FLEHU RSWLFV                                   (B) SDWHOOLWH

(C) EWKHUQHW                                        (D) THOHSKRQHV
 

 

Answer an\ FIVE Questions out of EIGHT Questions.

Each question carries 16 marks.
 

 
 
 

  Q.2     D.   HRZ PDQ\ IUHTXHQF\ EDQGV KDYH EHHQ DOORFDWHG IRU XVH ZLWK VDWHOOLWH FRPPXQLFDWLRQV DQG ZKLFK DUH WKH\? 
IOOXVWUDWH LQ WKH IRUP RI WDEOH WKH IUHTXHQF\ DOORFDWLRQV IRU PRELOH VDWHOOLWH VHUYLFH. (8)          

       

             E.   DUDZ DQG H[SODLQ WKH VZLWFKHG VWDU WRSRORJ\ XVHG LQ FDEOH TV V\VWHP.                (8)

 

  Q.3     D.   E[SODLQ WKH LPSRUWDQFH RI G/T UDWLR LQ VDWHOOLWH OLQN GHVLJQ.                                   (8)

 

             E.   WKDW GR \RX PHDQ E\ TDMA?  DHVFULEH TDMA IUDPH VWUXFWXUH.                     (8)
 

  Q.4     D.   WKDW LV QPSK?  DHVFULEH JHQHUDWLRQ RI QPSK.                                                (8)

                  

             E.   DUDZ DQG H[SODLQ WKH EORFN GLDJUDP RI HDUWK VWDWLRQ WUDQVPLWWHU.                          (8)

 
  Q.5     D.   E[SODLQ KRZ D VDWHOOLWH LV SODFHG LQ JHRVWDWLRQDU\ RUELW.                                        (8)

 

             E.   WKDW DUH DOWLWXGH DQG RUELW FRQWURO VXE-V\VWHP?  E[SODLQ KRZ GR WKH\ SHUIRUP WKHLU IXQFWLRQV?       

                                                           (8)

 

  Q.6     D.   WKDW LV PHDQW E\ VWDWLRQ NHHSLQJ RI D VDWHOOLWH?  E[SODLQ LWV VLJQLILFDQFH DQG PHWKRGV WR DFKLHYH LW.  
                                                           (8)

       

             E.   DHVFULEH WKH LPSRUWDQW IHDWXUHV RI INSAT-I VDWHOOLWH.                                          (8)

 

  Q.7     D.   E[SODLQ S/N DQG C/N LQ FM.                                                                            (8)   

 
 

 

 

             E.   E[SODLQ WKH IROORZLQJ WHUPV:

 

                   (L)   LRRN DQJOHV                                  (LL)   S\QFKURQRXV RUELW.                           (8)
 

  Q.8     D.   E[SODLQ LQ GHWDLO ZK\ 6/4 GH] FRPPXQLFDWLRQ LV XVHG LQ VDWHOOLWH FRPPXQLFDWLRQ V\VWHPV.                 (8)
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             b.   Derive the link equation as referred to a geostationar\ satellites.                          (8)

 
  Q.9           Write short notes on an\ T:O of following:-                                        (8  2=16)
 
 

(i)         Direct broadcast satellite.

(ii)       Satellite transponder.

(iii)      Data broad casting using satellites.                                                                  


